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Mational Curriculum
Statemeant

All students

Fluency

Reasoning

Problem Solving

IVISION

Multiplication and D

Solve problems
including missing
numkber problems
involving muli plication
and division, positive
integerscaling
problems and
correspondence
problemsinwhich n
objects are connected
to m objectives.

Fill in the boxes:

5:-;1:[ =15
Oxa=3
az[)s =8

Jemima has a toy car measuring Scm.
Aisha hasa toy train thatis 8 times as
long as the car. How long is the train?

Kainatis making buns. For every 40g
of flourshe needs 1egg.

If she uses5 eggs, how many grams
of flourdoesshe use?

If she uses400g of flour, how many
egps doe she nead?

Tami is planting bulbs. She has 76
bulbs altogether. How many
complete rows of eight canshe
plant?

= 12 buns are shared bebtween 3 boys. 16
buns are shared between 4girfds. Who
gets mora buns, boys or girls?
Explainyour answer.

= Forevery 3 boysin classthareare 2
gifds. Which of the combinations of boys
and girls could be corract?

18 boysand 12 girls
15 boys and 10 girls
21 boysand 2 girls
12 boysand 8 girls

Show your thinking using a picture.
= Each tary can fit 8 gingerbread menon. |

make two trays. Two people are corract,
who do you agree with? Explainwhy.
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Use the numbers 1 - 8 to fill the circles
bl oner:
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Lottie is counting the numberof legs
in her house. Peopleand cats live in
Lottie's house. Peopla have 2 legs;
cats hawve 4 legs. If thera are 26 legs
altogether, how many cats and people
mightthare be?

William has 3 t-shirts and 4 pairs of
trousers, how many different outfits
can he make?

How many different combinations of
numbers can you find thatwouldfitin
the empty boxas?
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